	 
	1.  When a tax is imposed on the sellers of a good, 
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1. the demand curve shifts downward by less than the amount of the tax. 

2. the demand curve shifts downward by the amount of the tax. 

3. the supply curve shifts upward by less than the amount of the tax. 

4. the supply curve shifts upward by the amount of the tax. 


	
	
	
	


	 
	2.  Trade raises the economic well-being of a nation in the sense that
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1. the gains of the winners exceed the losses of the losers. 

2. everyone in an economy gains from trade. 

3. since countries can choose what products to trade, they will pick those products that are most beneficial to society. 

4. the nation joins the international community when it begins to engage in trade. 


	
	
	
	


	 
	3.  Externalities 
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1. cause markets to fail to allocate resources efficiently. 

2. cause equilibrium prices to be too high. 

3. benefit producers at the expense of consumers. 

4. cause equilibrium prices to be too low. 


	
	
	
	


	 
	4. Public goods are both 
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1. excludable and nonrival in consumption. 

2. nonexcludable and rival in consumption. 

3. excludable and rival in consumption. 

4. nonexcludable and nonrival in consumption. 


	
	
	
	


	 
	5. The term market failure refers to
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1. a market that fails to allocate resources efficiently. 

2. an unsuccessful advertising campaign which reduces demand. 

3. ruthless competition among firms. 

4. a firm that is forced out of business because of losses. 


	
	
	
	


	 
	6. Table 7-1
BUYER
WILLINGNESS TO PAY
MIKE

$50.00

SANDY

$30.00

JONATHAN

$20.00

HALEY

$10.00

Refer to Table 7-1. If the table represents the willingness to pay of four buyers and the price of the product is $18, then their total consumer surplus is
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1. $38. 

2. $42. 

3. $46. 

4. $72. 


	
	
	
	


	 
	7.   When a good is rival in consumption, 
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1. one person's use of the good diminishes another person's ability to use it. 

2. people can be prevented from using the good. 

3. no more than one person can use the good at the same time. 

4. everyone will be excluded from obtaining the good. 


	
	
	
	


	 
	8.  When a tax is imposed on a good for which the supply is relatively elastic and the demand is relatively inelastic,
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1. buyers of the good will bear most of the burden of the tax. 

2. sellers of the good will bear most of the burden of the tax. 

3. the effective price paid by buyers of the good will decrease. 

4. the size of the market for the good will expand. 


	
	
	
	


	
	9. Consumer surplus is the
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1. amount of a good consumers get without paying anything for it. 

2. amount a consumer pays minus the amount the consumer is willing to pay. 

3. amount a consumer is willing to pay minus the amount the consumer actually pays. 

4. value of a good to a consumer. 


	
	
	
	


	 
	10. Goods that are not rival in consumption include both
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1. private goods and common resources. 

2. natural monopolies and public goods. 

3. common resources and public goods. 

4. private goods and natural monopolies. 


	
	
	
	


	 
	11. When a country allows trade and becomes an exporter of a good,
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1. domestic producers gain and domestic consumers lose. 

2. domestic producers lose and domestic consumers gain. 

3. domestic producers and domestic consumers both gain. 

4. domestic producers and domestic consumers both lose. 


	
	
	
	


	 
	12. Willingness to pay 
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1. measures the value that a buyer places on a good. 

2. is the amount a seller actually receives for a good minus the minimum amount the seller is willing to accept. 

3. is the maximum amount a buyer is willing to pay minus the minimum amount a seller is willing to accept. 

4. is the amount a buyer is willing to pay for a good minus the amount the buyer actually pays for it. 


	
	
	
	


	 
	13. When a tax is imposed on a good for which demand is elastic and supply is elastic, 
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1. sellers effectively pay the majority of the tax. 

2. buyers effectively pay the majority of the tax. 

3. the tax burden is equally divided between buyers and sellers. 

4. None of the above is correct; further information would be required to determine how the burden of the tax is distributed between buyers and sellers. 


	
	
	
	


	 
	14. Welfare economics is the study of
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1. how the allocation of resources affects economic well-being. 

2. how technology is best put to use in the production of goods and services. 

3. government welfare programs for needy people. 

4. taxes and subsidies. 


	
	
	
	


	 
	15. Goods that are not excludable include both
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1. private goods and public goods. 

2. natural monopolies and common resources. 

3. common resources and public goods. 

4. private goods and natural monopolies. 


	
	
	
	


	 
	16. When a good is excludable, 
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1. one person's use of the good diminishes another person's ability to use it. 

2. people can be prevented from using the good. 

3. no more than one person can use the good at the same time. 

4. everyone will be excluded from using the good. 


	
	
	
	


	 
	17. Since air pollution creates a negative externality,
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1. social welfare will be enhanced when some, but not all air pollution is eliminated. 

2. social welfare is optimal when all air pollution is eliminated. 

3. governments should encourage private firms to consider only private costs. 

4. the free market result maximizes social welfare. 


	
	
	
	


	 
	18. When a tax is imposed on the buyers of a good, the demand curve shifts
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1. downward by the amount of the tax. 

2. upward by the amount of the tax. 

3. downward by less than the amount of the tax. 

4. upward by more than the amount of the tax. 


	
	
	
	


	 
	19. The impact of one person's actions on the well-being of a bystander is called
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1. an economic dilemma. 

2. deadweight loss. 

3. a multi-party problem. 

4. an externality. 


	
	
	
	


	 
	20.  To measure the gains and losses from a tax on a good, economists use the tools of 
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1. macroeconomics. 

2. welfare economics. 

3. international-trade theory. 

4. circular-flow analysis. 


	
	
	
	


	 
	21. Which of the following is an example of an externality?
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1. cigarette smoke that permeates an entire restaurant 

2. a flu shot that prevents a student from transmitting the virus to her roommate 

3. a beautiful flower garden outside of the local post office 

4. All of the above are correct. 


	
	
	
	


	 
	22. When a country allows trade and becomes an importer of a good,
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1. both domestic producers and domestic consumers become better off. 

2. domestic producers become better off, and domestic consumers become worse off. 

3. domestic producers become worse off, and domestic consumers become better off. 

4. both domestic producers and domestic consumers become worse off. 


	
	
	
	


	 
	23. Trade among nations is ultimately based on
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1. absolute advantage. 

2. strategic advantage. 

3. comparative advantage. 

4. technical advantage. 


	
	
	
	


	
	24. Total surplus
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1. can be used to measure society's well-being. 

2. is the sum of consumer and producer surplus. 

3. amounts to value to buyers minus cost to sellers. 

4. All of the above are correct. 


	
	
	
	


	 
	25. When, in our analysis of the gains and losses of international trade, we assume that a country is small, we are in effect assuming that the country
	
	
	
	

	
	[image: image25.png]



1. cannot experience significant gains or losses by trading with other countries. 

2. cannot have a significant comparative advantage over other countries. 

3. cannot affect world prices by trading with other countries. 

4. All of the above are correct.

	
	
	
	


